Set-A| 2024

1. POH of BOXN Wagon is done at the 1, ATHT A A T IO oeoemeemcmecees 71z % Faara a7 Bt
interval of =-s-eeeesencanans month. AT 2
(A)12 (B) 09 (C)18 (D) 54 A) 12 B) 09 C)18 D) 54
2.Brake power certificate issued for Premiumrakes | 2. ftffaa Y& &7 ff, ff, ., f Foar - 21 2
1(;\)/2'17lid/f2rd ........... fB 4754 . A) 7+ 42w B) 10 +- 2 &
+/-4 days B) 10+ /-2 days C)15+/-3 3R NEGLE:! T
days (D) None of these. ol )z L
3. After reaching on an accident site first stepis to | 3, FHaAT ¥4T TTTZAT F AT TEAT FGH ovvvvvvvrvrsrenes

...................

(A) prima facie cause of accident (B) First aid of
injured (C) protection of site (D) arranging food.

(A)WWM'{WW(B)WZﬁW%ﬁ@T
(C) |TEZ Y TLAT (D) HISTT Ft 4T FLATI

4. ..type of bearing is used in FIATBogie: | 4. ................ T 3 AT FT ST Uz anft # fFar srar 2:
(A) Sphencal Roller Bearing (B) CTRB A) TR T Fafar B) #&tamzdt

(C) Ball Bearing D) None ofthese C) ater Farfer D) 37 § FIE A8l

5. New Wheel dia of fiat bOZie iS..uwmummmmssrrssssrssssee mm | 5 fFuz gt ® 77 g T ------------ ffi grar g

(A) 940 (B) 825 (C) 1000 (D) 915 A)940 B)825 C)1000 D)915

6.Capacity of auxiliary reservoir of LHB coach 6. TATHAT Fr= | Aoy e ta i ewar ... AT
is.....litre A)100 B)125 ()200 D)150

(A) 100 (B) 125 (C) 200 (D) 150

7.No. of brake cylinders in one LHB coach are

7. U U] %9 § o fAete <l i a1 #9752

........... A)08  B)04 C) 18 D)16
(A) 08 (B) 04 (C) 18 (D) 16
8. Speed of Medical van is fixed at ----kmph. 8. AfSwa a7 Fi i - At vl ver PR Fr g 21
A)100 B)110 C)75 D)120
(A) 100 (B) 110 (C) 75 (D) 120
9. Wheel gauge s .......... mm. 9, AN ....... [HHT B
(A) 16002 (B) 1600+2-1 (C) 1599 (D) 16763
(A) 1600+2 (B) 1600+2-1 (C) 1599 (D) 1676+3
7 Mpp—— is checked with tyre defectgauge. | 10,------------ T AT AT & |1 A1 Hi¥ AT
(A) wheel defect (B) Buckle defect (C) CBCdefect | A)RzerS%ae  B)awars®ae ) it ITHhae D)
(D) door defect TRSHFE
11. Brake pipe pressure is ------------------ Kg/Cm2 R L L T E— et g ot ae gar
(A) 5 (B) 6 (C) 3.8 (D) 4 B
A)5 B)6 ()38 D) 4
7 J— bearing is used in casnub bogie. 12. FAF AR oo, T T ITART AT g
(A) Cylindrical (B) Spherical (C) CTRB (D) Noneof A) 9FTFI B) MATHIT C) Hremeadt D) 39H & #12
these qa

13. POH of LHB coach is done in the interval
of....months,
(A) 12 (B) 18 (C) 36 (D) 48

13, UATHAT FI HT GHATH ---- AT & AL G 64T AT 8
A)12 B)18 ()36 D) 48
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14. Brake accelerator is c)onnected to - 14, A% UFAELZT 2T FIAT g -
A) FP pipe B) BP pipe p C) BC qTZT D) A 3 B

C) BC pipe D) both A & B A) FP 9T B) BP TR C)

15. What is the capacity of CR TANK? 15. CR ¥ it srerar #4787

A) 5.0 Liters B) 6.0 Liters 9 #ftz7 D) 8 Azt

€) 9.0 Liters D) 8.0 Liters A5 iz 8) 6 #1eT C) )

16. What is the last shop issue size of wheel
should be followed as per latest RDSO
instructions

A) 862mm B) 857mm C) 845mm D) 915mm

16. T arcErumar gt F e TRAT
ST AT T STHTE AT & T AT AT ST A1
a) 862 Foreft ) 857 fansfy =) 845 farsfy €1) 915 et

17. Permissible wheel diameter difference on the
same axle

A) 0.5mm B) Smm C) 6mm D) 13mm

17. U &t 4 9T S AT TR ar AT HATL
a) 0.5 faeft oft) 5 fasfy i) 6 feft €1) 13
foeft

18. How many brake discs are available on one
LHB Coach?

A) 2Nos B) 4Nos C) 8Nos D) 6Nos

18.@@@&@?111%%%&5%@3@5?
A) 2Nos B) 4Nos C) 8Nos D) 6Nos

19. Shelled wheels are withdrawn from service
when the shelling length reached (Max)
A) 40mm B) 50mm C) 60mm D) All Above

19. ey it St (rfRraw) % g 9T e a2 qr
AT IOE S AT STAT 2

) 40 faft oY) 50 At =) 60 At <) SuTs Tt

20. Free height of 16.25 tons AC coach bolster
spring is
A) 385 mm B) 390 mm C) 400 mm D) 410 mm

20. 16.25 & THT &= e 5T it qoa F91% 2
a) 385 fa# =) 390 At ) 400 A=t <) 410 A

21.”1" inch is equal to how many “mm”?
A) 12 mm B) 25.4mm C) 3mm D) 10mm

21."1" 3= faraw "Fnfi F aree &7
2) 12 fafy 1) 25.4 faefy o) 3 fefy <) 10 fefy

22.'Air Dryer’ Function is
A) Adding water to the Air
B)Air pressure decreasing
C) Remove moisture from air
D) Air pressure increasing

22. ' T ST HHH §
A) ZAT H qTHT STrEAT

B) AT & 419 &H gAT
C) gaT & 7+t A=rat

D) aTgaTs ¥ gy

23. Micrometer least count isA)
0.01 mm B) 0.02 mm
C) 0.05mm D) 0.50 mm

23. ATSHIHIET i FH A 77
i g

A) 0.01 mm B) 0.02 mm
C) 0.05 mm D) 0.50 mm
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24, is used to measure the roller

24, T Ayafiart # Trere Fraredt 1 wrreer F foro s

clearance in roller bearings. AT 5
A) Feeler gauge B) Snap gauge -
C) Micrometer D) Clearance Gauge A) YT st B) AT I

C) argwHter D) ATt s
25. Anvil is A part of. 25, T oo BT
A) Vernier caliper B) Tri square it
C) Outside micrometer D) Dial gauge A) affae §forae B) 218 wFraT

C) WTEHIHIET ¥ aTg< D) 1A

26. A dimension is stated as 25+ 0.02mm in A
drawing. What is the tolerance
A) 25.00mm B) +0.02mmC)

26. T I F TF ATATH 25 + 0.02 AT FwTH
FATAT AT | AT FAT S

-0.02 D) 0.04
D i 2)25.00 faft  B) +0.02 st
c)-0.02 st D) 0.04 A+t
27.____isused to measure the diameterof the 7 T STFRT a2 ¥ =qra 7 7 % forg T
wheel. '

A) Trammel gauge B) Pi-gauge
C) Vernier Caliper D) Above all

A) 3w 57 B) UTE 7 €) AT Hforaw p) 3w @+t

28. SI Unit of mass
A) pound B) liter C) meter D) kilogram

28. oA $it SI THTE ,
A) TT3E ) #frex ¢) #ex D) e

29.In A FIAT bogie how many number of earthing
devices are provided

A) one B)two C) three D) four

29, Rz AT 7 et AT [RaTd TaT (9T ST 8
@@ BdA (OFF DER

30. What is the name of the damper connected
between bogie and car body?
A) Primary B) Secondary C) Yaw. D) None of these.

30, FRT 2 FR ATET Il SATSH AT SFIFT ATH 74T Z
A) ITEH B) Fehedl C) AT D) TH & I TR

31. POH periodicity of CTRB used on LHB coachesis

A) 18 months B) 36 months
C) 54 months D) 72 months

31. LHB &= # Tg<h CTRB % POH it straferwar #aT g

A) 18 HEIHT B) 36 H@IFT C) 54 WEIAT D) 72 WEHAT

32. The function of earthing device is
A) To protect CTRB

B) To protect the WSP

C) To protect the control arm

D) To prevent brake binding

32, yfdfr Raga wwd §
A) CTRB Y et & forg

B) WSP it &t & forg

C) fAr=ror erra Y T F g
D) % arg & &1 T@ ¥ forg
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33. How much shelling on A wheel can be allowed
A) 50 mm length and 1.5mm deep

B) 40 mm length and 1.5mm deep

C) 30 mm length and 1.5mm deep

D) No shelling allowed

33.Fem m i iffn & aefy 3
a) 50 fieft dar she 1,5 finft mft
B) 40 et drd e 1.6 i et
¢) 30 foft art e 1.5 ot et

0) Affn # aefd 7 &

R

34. D2 Maintenance Schedule of LHB Coach is
done -

A) 30 + 1days B) 30+ 3days

C) 30 + Sdays D) 301 7days

34. vAu=dt T £t § 2 vETETs At i At
A)30+1fRFd) 30+ 33
C)30+5f D) 30+ 7

35. What is the function of FIBA device in case of
bellow burst

A) Failure indication B) service brake application

35. v & Y fPufa  FIBA Rarza #r#14 2
A) fakerar @aa B) afdfa o vefroT

C) both A & B D) none of these C)AaﬁTBﬁﬁD]mﬁﬁW@

36. The maximum air pressure available in air 36. 85T 7 Iueresy afiraay a1 T14 graT 8-
spring is e R

A) 6 kg/cm2 B) 4 kg/cm2 A) G%mﬁ’ 2 B) 4 % g

C) 8 kg/cm2 D) none of these 08 [RHT2 D)Eﬁﬁﬁqﬁ'ﬁﬂ‘ﬁ

37. What is the purpose of Anti Skid system? Bl Qﬁf?ﬁf&maﬁr:ﬁwwé’!

a) To protect wheels against skidding, A) afEat #1 RerfEr & a=mr 3 forg

b) To maintain same speed of all axle B) T+ft gﬁﬁmwﬁmr@%%ﬁm
c) Both A & B. C) A B.

d) None of these D) TAH & 1€ 7Y

38. How many states are in India
A) 29B) 28(C) 27 D)26

38. T # o 7w &
A) 29 B) 28 C) 27 D) 26

39. Which of the following is available in largest
quantity in atmospheric air:
A) Oxygen B) Nitrogen C)Argon D) None of these

39. FRerferfera # & A4 arasreeit avq & g a9 w0 § 97Ty
LY
A) HFHISTT B) AT () AT DYTH & #7E 7Y

40.1f 200% of A number is 90, then what is the 80% of

4o.ﬁ%ﬁmwzooﬁsm45%,ﬁwmmso
that number? EISKCAEREIE T
A) 48 B) 36 C)24 D) None of these A)48 B) 36 ) 24D)37rff?r'éﬁ'§ﬂ'§r'

41. The mean marks of 10 boys in A class are 70%,
whereas the mean marks of 15 girls is 60%. The mean
marks of all the 25 students is :

A) 64% B) 60% C) 55% D) 52%

41.%aﬁ$mﬁlowsﬁaﬂaﬁwraﬁﬁ70%%,mﬁ 15
ASTHAT T faa si 60% . Tl 25 iy 1 siae
i

A) 64% B) 60% C) 55% D) 52%

42. An amount of Rs 1200 is districuted amongA, B
and C in the ratio of 5:7:13. What is the difference
between the shares of C and B?

A) Rs 288 B) Rs 328 C) Rs 296 D) None of these

42.1200 TF HT TFX A, B e CH i 5. 7- 13 ¥ sTqaTa
# faafa fir sreft &) CWB%M%#}?WWWQ?

(A) 288 ¥9F B) 328 ¥U4F C) 296 TqX D) TH | F1E 7Y

43. A shopkeeper sold some articles at Rs 35 per piece
and gained 40%. What would be the selling price of
each article to earn 60% profit?

A) Rs 40 B) Rs 45 C) Rs 50 D) None of these

43. T THEIL A T T8 H1 35 T G ey 6y 22
AT 3T 40% T AT FHTAT) 60% =T 1fota ¢ ¥ Ao
TeAF a1 Fawa wew g

A) 40 TT B) 45 FWY C) 50 T D) TH & FrE 78F
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44. Area of circle having diameter 7 cm is
............ square cm
A) 154 B)77 €)37.5 D)21

44.7 A SATE AT FTHT ATHA Lo 7F Fft
A) 154 B)77¢) 37.5 D) 21

45, 5*54545:5 = iiinavivina
A) 1 B) 30 C) 26 D) None of these

45, 5*545+5-5 =...........
A) 1 B) 30 C) 26 D) 2778 & &1E &1

46. The length of the bridge in metre, which A train
130 metres long and travelling at 45 km/hr can cross
in 30 seconds, is:

A) 230 B)245 C)240 D)250

46.wga#ﬁa‘aﬁrﬁzrﬁw€,ﬁfﬁ13orﬁzraiﬁm
45 Fft /st Y TR & AT HTA ATAT 2 30 TS H AT
FL qFAT 8?2

A) 230 B)245 C)240 D)250

47. Capital of Manipur is
A) Guwahati B) Agartala C) Shilong D) Imphal

47. wforqe £ TreraTi 2
A) TEATETEN B) eaat C) fa=riim D) TFhTeT

48. 46. The three elements of the fire triangle are:
a. Water, A heat source, and fuel

b. Oxygen, water, and fuel

¢. Oxygen, fuel, and A heat source

Fuel, oxygen, and earth

48. s AT F A aEa g
A)STET, FHT T &1 3T S8
BT ST+, STeT U 8+
C)amﬁﬁfr,émq'gmma’lﬁ
D) Fer, siferfier us geft

49, No of fire extinguishers provided in one AC
coach of A passenger train
(A) 05 (B)04 (C)02 (D)O1

49, AT T F UF UHY Hr= H AR ervAew A=A T F=AT
(A) 05 (B) 04 (C)02 (D) 01

50. What is the full form of WRA?

50. WRA T 07 &9

A. 500 liter B. 550 liter
C. 600 liter D. 685 liter

a. Wire relay appliances A) AT A TS
¢ Werherliebaramgrmt B) Tz YR e
d. None of these C) T3 fefis siisHe

D) TH & FIE TR
51. What is the Capacity of the Water Tank 51. T % SHH & A1 T&T il T 9T T Zhr i erqar
provided under the frame of the coach? FTE?

A. 500 e B. 550 #e<
C. 600 e D. 685 12T

52. A can do A piece of work in 30 days while B can do
it in 60 days. A and B working together can do it in:
A) 25 days B) 20 days C) 10 days D) 15 days

52. A U& &4 &Y 30 RAT # T whar § stat® B H 60 =AY
H FHT AHAT g1 A 3T B UH ATH FTF Fd gU I QA A F
m%

A) 25w B) 20 & C) 10 R D) 15 R+
53.75 Ltr AR tank used for - : T
A) Toilet purpose B) Braking purpose 53.75 12T AR 36 %1 ARLALL
C) Standby D) None of these. A) eit=rerd % forg B) @ e & fore ¢)edwans
D) g & FIE L

54. What is full full form of MCB
(a) Miniature circuit breaker
(b) Mini circuit breaker

54, THEHTET HT F B FAT
(A) fafAu=w wffe % B) R afde a7 C) wreex
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(c) Master circuit breaker
D)None of the above

L

affiz %7 D) IUTIH H A A5 ABT ]

| 55. Non - return valve permits water supply in:
A) One way B) Two way

55, FTH-Frae area qret ¥ srafd £ agafa 2ar 2

| C) Three D) Four way A)UTHF TR I B) T avh
(CO)FTaTHEH D) AL TTH A
56. One Micron is A:
56. U HIZHIA graT 8
A)0.01mm B)0.001 mm A) O%TW B) 0.001 ﬁ,ﬁ
1€)0.001 inch D) 0.0001 mm ' '
| €) 0.001 fat D) 0.0001 fareft

57.The following is (are) used as A safety
device(s) in machines;
A) Fail safe B) Safety interlocks
C) Limit switches D) All of the above

57. 90T F FTAT ITFHLUT (ITFHION) F =7 H 7
HT ITART T SITar g

A) % T%F B) AT T2TATH

C) #oT ffa=r D) Iu<res TT

58. File used for fitting radius in corners is:
A) Flat file B) half rough file
C) Round file D) Square file

58. F1 # FBPsar fhe v F forg saamr i s
WW%

A) FIrE BT B) 3780 T HIgeT

C) T WTEe D) 9 ®reer

59. Who won the player of the tournament award in
ICC T20 Cricket World cup 2024 held in USA & West

59. HYH 157 AATHT 3T Jeegdier # smariorg 1CC T20 frz fog
FT 2024 H WIIT 3 T ZATHE HT TEERTT e sfarm?

A) China B) USA C) Canada D) India

Indies?
_ A) Tz Frgett B) Tifga et
A) Vll"at.KOhll B)Rohit Sharma C) st 7H<TE D) o FHR AT
C) Jasprit Bumrah D)Surya Kumar Yadava
60. Olympic 2028 games is scheduled to be held in 60. A< 2028 @ ......... H AT g AT 8
............... (F) = (@) TR () FATST (7) 9T

61. Who had won the gold medal in javelin throw in
Olympics 2024:

A) Neeraj Chopra B) Arshad Nadeem C) Manu Bhaker
D) Vinesh Phogat

61. AT 2024 H 1T %o H Tarof g2 fFarey sfrq o
%) ST ATIST (@) AXAT ALH () TG AT () FB¥ver g

62. Acetylene Cylinder in gas Welding equipmentsis:

A] it is black color and its valve has right hand

thread

B] It is maroon color and its valve has left hand

thread

C] To supply the gas to welding torch at A proper

and reduced pressure

D] For gases supplied to the welding torch from
cylinder

62. g afet guon # ufafedia e &

A] T FT T A § T 56% q1ea R g1 &7 amr 2

B] 7 A& 1 1 ¢ o< 70 a1ea # 70 grey 7 0w 3

c] 3o o & FaTa T AfeeT warre # dw Fit s w ¥ Rre
D] afeSw werer it srqfaf €Y 7 frt F e

faferez

<

63. The tool is used to finish drilled hole is called:
A) Reamer B) File C) Hacksaw D) Drill

63, 2t O T & it wew a7 ¥ foro Iyaor 1 v R
i & forer #gr srar @

A) &9T B) Wree C) g%t D) 3w
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64. During the Air brake test of the rake which
hose pipe should be connect first -

A) FP hose pipe B) BP hose pipe

C) Any hose pipe D) Both hose pipe

6.4. T & TAT A TEEOT F YT XA AT ZISA
I TS Haae AT srar Jrfge

A) TEdt 7Y T B) BP AT a1
C) #1E Y el g D) AT AT ATET

65. In case of brake binding on both trolley whatyou
do first -

a) Isolate both trolley

b) Isolate the DV

c) Pull the quick release valve wire

d) Any of above

65. AT YAt 7 3 ATEFET F ATHA H ATT TFA FAT
FAE

A) EYY Tt FT 21T FY B) DV HT AT FY C) AT
frefist area a1 @Y= D) IULrh § A FrE AT

66. What is the principle of brake system used onLHB
coaches?

a) Single pipe air brake system

b) Twin pipe air brake system

¢) Twin pipe with disc brake air brake system.

None of these

66. TUHAT FT=T T T o TOTeAT 7 HZTa FATE?
A) firer arew wH 3 feew

) e arzw wae A e

oY) feen aF vae o o & ary Baq o=y

D) 37H & FIS AT

67. what is use of Chisel

A] To Remove small amount of metal and finishing
purposes ‘

B] To remove large amount of metal up to 6mmC(]
To cutting the metal on scribed line

D] To remove the metal on scribed line

67. T HT IITNT FAT 5

A] o1 T FTET /AT Y g ST afewr Igedt & g
B] 6mm @ €Tq T TET ATAT FHT G&TH & Qg

C] &ITq FT BRTSEE ATEA T FTed & (g

D] THTEEE ATSH U< &Td I g&Td & foIg

68. what is use of file ;
A] To Remove small amount of metal and finishing
purposes

B] To remove large amount of metal up to 6mmC]
To cutting the metal on scribed line

D] To remove the metal on scribed line

68. WIS T ITTNT TS

' ] GTg ST IISHTOT IZLAT T SIET ATAT FT g2 & forg

B] 6 T+t #ff @ a=t wr= W arg Fr e & fag
C] &ITq FT THTZSE AT I FTe & forg
D] THTZeE ATEA I T Hl g+ & farg

69. If the dump valve continuous venting the
reason may be -

a) Dump valve is defective

b) Dump valve electrical supply disturbed

¢) Dump valve stuck up in actuating position
WSP is defective

69. TR S aTed LA ATET FHT FTXT T qhaT -

A) 9 a1ed J9QUT § B) 9 ated faga s axerm= )
29 qrea giwg fufa & &7 a1 D) WSP oyt §

70. Height over roof of LHB coach is -
(A) 4039 mm (B) 4025 mm (C) 4026 mm (D) 4047 mm|

70. TAUAAT FT= Y T T HATS ©
(n) 4039 A (ff) 4025 Fa (#1) 4026 fAft (1) 4047
st

71. Fire Extinguisher should be refilled -
A) Every month B) Every 3 months
C) After 1 year D) On every trip

71, srfrermae @ 71 fhe § weaT "o -
A) BT HEM B) 8T 3 WE A

C) 1 a9 F aT% D) L ATAT I
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72.0n KM basis ‘SS- 1" of LHB coach is done
A) 5 lakh B) 6 lakh
C) 9 lakh D) 12 lakh

72. ferftes % srare a7 verosAt e w1 'wHUA- [ B s g
A) 5 @1 B) 6 AT
C) 9 @@ D) 12 ATd

73. The CBC fitted on LHB coaches’ has
feature.

A) Anti slipping B) Anti rotation

C) Anti climbing D) Anti Creeping

73. UAUsat Hr=t g7 oy d e 7 L FrET g
A) Tt Rafdar B) ot Treer
C) U& FerefEa D) oot Fifdr

74. Axle Load of AC coach is..........Ton.
(A) 16.3 (B) 13.3 (C) 20.3 (D) 18.3

7 4. THt F4F FT UFTA ATS G 1
(n) 16.3 (B) 13.3 (C) 20.3 (D) 18.3

D s gms Grease is used in CTRB.
(A) 455£30 (B) 250130 (C) NIL (D) 1500

7 D s T CTRB # gms Grease T ITFIT fFaT srrar
|
(A) 455+30 (B) 250430 (C) 977 (D) 1500

76. Yellow strips on end body of ICF indicate is

76. ICF % sifaw erfiv av fieft afgat ZRa #dr g

(A) Antitclescopic (B) Dual brake (A) THFATHRITOF (B) TAA oIF

(C) In built air brake (D) Non-Antitalescop (C) faee uzrz &% # (D) ATA-UAEerehT
77. Following welding process uses consumable 77. ATET Ik & IUHTST TAFEIS FTITART FLAT S
electrodes (») fear (B) famr (c) ardir (D) =
(A) TIG (B) MIG (C) Thermet (D) Gas

78. During service application the brakes should 78. HAT SMAE & IILH IF AT g1 AT2T —

apply in - A) 20 FFE B) 30 Ahe

A) 20 Sec. B) 30 Sec C) 3-5 ®%E D) 15-20 Ahe

C) 3-5 Sec. D) 15-20 Sec

79. The Fins provided in between the brake discsfor
a) To provided effective cooling during braking

b) To minimized weight of brake disc. B) s 3@ % a1« T 7 ¢ & forw
¢) To provided strength to break disc. C) o =1 qrew % forg orfRe we= w3 & g
d) To increase friction property of brake disc D) &= feeeF & =y T[0T Y F@T F g

79. 3= oo & fit= waTe o g g
A) ST 3 e Tt oftqer ga= e ¥ oo

80. “PEASD’ provided in LHB can be reset -
a) From under gear of coach only

b) From any where of inside coach B) T % &= % fedt oft e &
c) From the point where chain pulled. C) 39 g & sTet 3= i<t 7S oft
D) Both A &B D)Agﬂ-(Ba:ﬁ—

80. TT=elT § YT fohy T "druueEt v i g s aar 2
) F F e & 9 & e

81. What is the limit of air gap between sensorand
phonic wheel? '
A)1.0-5.0mm B) 1.0 - 10.0 mm
€)09-14mmD)1.0-2.5mm

81. HHT 3 HIAE I 3 1 FaT F A< v THT 4T 22
A) 1.0 - 5.0 A+ B) 1.0 - 10.0 A+
€) 0.9 - 1.4 At D) 1.0 - 2.5 fasfy

82. What is the purpose of speed sensor?

a) To compute the revolutions of each axle A) T3 [ F TRawor Y Torr A % fore
b) To maintain same speed of each axle B) Teu gﬁaﬁmwﬁmmﬁ ¥ foo
c) Either Aor B C)aTATAATB

d) None of these D) i AT A

82. vfiT HHT FT IgeT FATE?

83. What is the purpose of Dump Valve?

a) Tomaintain approximate same speed of all
axles.

b) To protect wheels against skidding

83. T qTeq FT IZLT FT &2
A) Tt 1 & ST g i e @
B) ufegai &1 Fafdn & a=mm ¥ foro
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¢) A& B both, C) A T B At
d) None of these :
D) ZH & € AHT
84. Minimum Permissible buffer projection from 84.FTE(F I Iaaq 3‘@"1’ AHT TATT %’
Headstock is -

(A) 635 mm (B) 605 mm (C) 590 mm (D) 584 mm (») 635 faft (B) 605 fas (c) 590 fasft (D) 584 faft

85. What is the oil level in dashpot? 85. Forate ¥ =1 &1 &< fFaAr grar 27
(A) 50.0 mm (B) 40.0 mm (C) 75.0 mm (D) 90.0 mm (A) 50.0 Frsft (8) 40.0 forsft () 75.0 At (D) 90.0 ey

86. How many types of shock absorbers are used in LHB 86. TAUHAT Fr=T # Fha= THTC * aTF TsSATEZ T ITIAT

CXazhe;?s — T STarT 87
(A) 6 (B)5 (C) 4 (D) ()6 (B)5(C) 4 (D)3

87.In place of empty load box what device is used in 87.UFCHt ATE AT o TITH 9T Froeret & 7 g sawor

BLCwagan? T START F3T STaT 87

AB
(A) BSD (B) LSD (C) SDF (D) S ) (5) - f ) A
88. Rake carrying capacity of the BLC wagon is 88. Hruerdt T A TH agT AFAT S
(A) 40 wagons (B) 45 wagons (C) 46 wagons (D) 48 (A) 40 337 (B) 45 A1 (C) 46 33T (D) 48 CrCs
wagons
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T ——

89. Preheating is essential in welding for
(A) High speed Steel (B) Stainless Steel (C) Cast Iron (D)
erman Silver

89. At # frffr sraem 3 ]
(A) &T¢ wfiz wfter (B) @2aaH w41er (C) FFT ATET (D) 1o+
REEAS

90. Full Form of CNC machine is: (A) Central Numeric
1Control (B) Computer Number Control (C) Computer
!Numeric Control (D) Computer Numeric Centre

00. #fruereft wefter &7 qof =7 2:
(2) Fger TR FEret (B) FHET o FZIT (C) Fgex
AT sarer (D) Foge =g fE He

[

91. Break Journey is not permissible in case of ___
‘(A) Transfer Pass (B) School Pass (C) Settlement Pass
(D) Post Retd. complimentary pass

91. __ % wraar # #% wAt fr AGATT B F
(A) TMEHT 919 (B) #d 919 (C) HTAHZ 9T
(D) Wz fremmE wETd aH

92. Roof sheet thickness in BCNA wagon

(A) 2.4 (B) 0.6 (C) 1.6 (D) 2.5

92. f+frumo v # ma Fir ofte F A
........... e 2

(A) 2.4 (B) 0.6 (C) 1.6 (D) 2.5

93. Condemn height of Elastomeric Pad is
(A) 40 (B) 42 (C) 46 (D) None

03, TATEA AT O T <[AdH FATS
(A) 40 (B) 42 (C) 46 (D) F1% 7&f

94. Limit of flat tyre in wagon is
(A) 20 (B) 50 (C) 75 (D) 60

94. 3 H wAe Trg< T HAHT FT g
ot

(A) 20 (B) 50 (C) 75 (D) 60

.........

95. What is the Transportation code of inspection carriage
(Administrative)?
(A) AR (B) CR(C) IC (D) RA

95. Adreror WY (wemafAw) #T afEmga FrE ow=T
14
() wHZT (B) #HX (C) AEHT (D) :|RT

96. Maximum encashment of leave on average pay is__
(A) 200 days (B) 60 days (C) 360 days (D) 300 days

96. ET AT T FET T ATAFIH THSTHIOT
(A) 200 fa=1 (B) 60 fa= (C) 360 &= (D) 300 &=

97. LAP shall be credited to A Railway servant at the
rate of : (A) 2-1/2 days per month (B) 3 days per
month (C) 2 days permanent (D) 1-1/2 days per
month

97. TATHY &l LA Haeh i (Aerforfaa Y 27 ¥ 56T 44T
ST (3) wfd w18 2-1/2 fa= () wfa wrg 3 = (o) 2 f =
et (D) 1-1/2 R afa arg

99. When no leave is admissible under any other rule
the leave granted is known as

(A) LAP (B) LHAP (C) SPL leave (D) Extra ordinary
leave

99. 5T A< gt et o=y fAaw % qea efwrd i &, ar
& T GE FTTATATAT S

(A) ST srerehter (B) o7& stiSter srarsrer (C) f29ve sraraprer
(D) STETETIOT STFHTLT

100. The maximum daily hours of work in A day with

normal wage allowed in factories is?
A) 11 Hours B) 10 Hours C) 9 Hours D) 8 Hours

100. FTT@THT H ST HIHTT AGT ¥ 9T U 127 F F79
¥ srfarenaw 2R we /T 2

A) 11 92 B) 10 52 C) 9 %& D) 8 &

1018’ 47 F 7 A% &1 Fratadt & arqq # g fAfeetaa aror & gom
AZET aan 2fveer 8) Fa 241 ) Faer £fterer ) Faer Trafas wrar

102. arfRa 77 o a7 & grar 2
A)AB)BC)CD)D
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103. F7 FFA wfafd ¥ sreer 3 2.
A) TeHA B) Y& WY ) fover sl D) werreieht

104 TISTHTNT ¥ HTETT G2 297 FY Fraw oot #§ afer 1 &:
A) 2 B)1C)4 D)3

105.TrsrHTaT 8 wfdreror 1 qrzasw 49 dA FAT 82
A) T FATET § T FAWTT B) A= WaTerd €) TAT HATT D) T HATAL

106. 377 & F Y swyrar JgAmrd fofe § 7Y ot sreft 82
A)EE B)EEFT C) Tt D) HITH

107.7F& R fr arfia #r qaman srar 82
A)8 HTH B)10 31+ €)12 317=q D)14 fAawa<

108. = fFerm T ¥ fr af B8 i wrd= W i TorTaT F w9 § e e
A)26 AT 1950 B)15 STEA L R ¥\e 1947 C)9 ITET 1942 D) 14 frawa¥ 1949

109. =W A § g1 fraT wrard 82

A)23 B)22 C)24 D)21

110. 58T TroraTaT AT & FF o ageg g 82
A)30 B)25 €)20 D)21
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1. POH of BOXN Wagon is done at the IR R G K- CIG K D0 | K110 R HIE & el 9T Bpar
interval of ---=-s-csseeneans month, 3
(A)12 (B) 09 (C)18  (D)54 Srarel

A) 12 B) 09 C) 18 D) 54
2. Brake power certificate issued for Premiumrakes | 2, fYf&rs Y& &7 oY, o, oY, Hr derar --- gy &
is valid for............
(A)7+/-4days  (B)10+/-2days  (C)15+/-3 | A7+ 4fes B) 10 +- 2 feet
days (D) None of these. )15 +-3feaT D) g1 & FI$ 77T
3. After reaching on an accident site first step is to meq@ﬁﬁimmm ...................

(A) prima facie cause of accident (B) First aid of
injured (C) protection of site (D) arranging food.

(A)WWWWW(B)Mﬁmm
(C) |T3T 1 GI&TT (D) HISTeT I cATEAT el |

4. ............type of bearing is used in FIATBogie: | 4. . . . R F ST 7 394N frue el F fFar Srar g
(A) Spherical Roller Bearing (B) CTRB R Trert 37T Y
(C) Ball Bearing D) None ofthese ) . . B) el

C) arer a3ifar D) 37 ¥ IS ALY
5. New Wheel dia of fiat bOgie IS muuumemmmeeeressersssss mm | 5 fruz N F T RgT T SR ---mnmmmmem A eaTg
6.Capacity of auxiliary reservoir of LHB coach 6. TSTUTE Y A Jifaratarsly R Hr a1 ar ... Bl &

(A) 100 (B) 125 (C) 200 (D) 150

A)100 B)125 C)200 D)150

7.No. of brake cylinders in one LHB coachare

7. U TSUST e 3 sieh [Aois! iy T&aT FAT8?

----------- A)08  B)04 C) 18 D)16
(A) 08 (B) 04 (C) 18 (D) 16
8. Speed of Medical van is fixed at ----kmph. 8. AT ST Frafy AT ufa ger RuRaHras gl
A)100 B)110 C)75 D)120
(A) 100 (B) 110 (C) 75 (D) 120
9. Wheel gaugeis ...........mm. 9. AN ....... TAHATE |
(A) 1600£2 (B) 1600+2-1 (C) 1599 (D) 1676+3
(A) 160042 (B) 1600+2-1 (C) 1599 (D) 1676+3
T NO—— is checked with tyre defectgauge. | 10,-------e-m-- TR Y A & T AT Hr ST &1
(3) ;}hie;ec:::ct (B) Buckle defect (C) CBCdefect A)feaidhde  B)ahadbac  C) W 2w D)
0
(D) PR
11. Brake pipe pressure is ----=-----==-===== Kg/Cm2 11. 3% UTST BT A =mevemmmmmmmmmmmnens R 9y 397 FaHeT
(A)5(B)6(C)3.8(D)4 '(ﬂFlT%'
A)5 B)6 ()38 D)4
2 concmensneniis bearing is used in casnub bogie. 12, FEAE N H ..o IHTET FH IR AT R
(A) Cylindrical (B) Spherical (C) CTRB (D) Noneof A) §TTFR B) TNAFT ) TENRA D) 3 A s
these
el

13, POH of LHB coach is done in the interval
of....months.
(A)12(B) 18 (C) 36 (D) 48

13, TAUTET &I &l AT - FIE & HeaTol R Foar et &
A)12 B)18 ()36 D) 48

Page 1 of 12




Set-B| 2024

14. Brake accelerator is connected to -
A) FP pipe B) BP pipe
C) BC pipe D) both A & B

14, 3% TFHCT 3T I &-
A) FP UTSY B) BP UT3Y C) BC UT3Y D) A 3R B &laAt

1S. What is the capacity of CR TANK?
A) 5.0 Liters B) 6.0 Liters
C) 9.0 Liters D) 8.0 Liters

15. CR & &r &THaT FAT 82
A)S5 ST B) 6 @11eX C) 9 #ieX D) 8 &g

16. What is the last shop issue size of wheel
should be followed as per latest RDSO
instructions

A) 862mm B) 857mm C) 845mm D) 915mm

16. AAdYATH IETHIN AE2AT & regar afgar &
HTH ghTeT FEET TR FAT § T ATele fohaT SAT=AT
aifRT

A) 862 fA#TY oY) 857 TR+ €Y) 845 fAFY 2 915 AT

17. Permissible wheel diameter difference on the
same axle

A) 0.5mm B) Smm C) 6mm D) 13mm

17. @ &1 Y3 9T 3137 9fgar e 3ia]

A) 0.5 fAFT &) 5 AT @) 6 AT ) 13
&Y

18. How many brake discs are available on one
LHB Coach?

A) 2Nos B) 4Nos C) 8Nos D) 6Nos

18. T TAU T e O fhciey 3 f3E 3uaretr 2
A) 2Nos B) 4Nos C) 8Nos D) 6Nos

19. Shelled wheels are withdrawn from service
when the shelling length reached (Max)

A) 40mm B) 50mm C) 60mm D) All Above

19.%@&3@(%)%@@?\%%
T AT H ATIT o forar STar g

A) 40 TAFY &) 50 fAEY @) 60 A ) sRIFT T

20. Free height of 16.25 tons AC coach bolster
spring is
A) 385 mm B) 390 mm C) 400 mm D) 410 mm

20.16.253?0?&@?31@%?@?7@33@?@1%%
A) 385 T &) 390 AT &) 400 Y ) 410 =

21."1"inch is equal to how many “mm”?
A) 12 mm B) 25.4mm C) 3mm D) 10mm

21."1" 39 fhaer "fAe S
A) 12 AT a) 25.4 fAw @ 3 AT ) 10 e

22.'Air Dryer’ Function is
A) Adding water to the Air
B)Air pressure decreasing
C) Remove moisture from air
D) Air pressure increasing

22. 'TIT 3T e &
A) gaT # arefy S
B) &4l &7 &aTa & gl
C) &aT & AHY fAehrer

D) argers # geftr
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23. Micrometer least count isA)
0.01 mm B) 0.02 mm
€) 0.05mm D) 0.50 mm

23, ATSHHCT HY HH A A
e &

A) 0.01 mm B) 0.02 mm
€) 0.05 mm D) 0.50 mm

24. is used to measure the roller
clearance in roller bearings.

A) Feeler gauge B) Snap gauge

C) Micrometer D) Clearance Gauge

24.ﬁmmﬁ7ﬁﬁwmﬁm$ﬁvm
fRaTSATaT &l
A) e AT B) T4 31T

C)ﬂsmub)ﬁmm

25. Anvil is A part of.
A) Vernier caliper B) Tri square
C) Outside micrometer D) Dial gauge

25, fedq e B G R G
A) afe AU B) T8 TFATIX
C) ATSFIHIET & STeX D) ST 1T

26. A dimension is stated as 25 + 0.02mm in A
drawing. What is the tolerance

A) 25.00mm B) +0.02mm

C) - 0.02mm D) 0.04mm

26. T S1SIT H Teh 3TATH 25 + 0.02 AT FFTH
ST AT | SoH FATE

A) 25.00 fA#fT  B)+0.02 fAFY

C)- 002 D) 0.04 fF#

27, is used to measure the diameterof the

wheel.
A) Trammel gauge B) Pi-gauge
C) Vernier Caliper D) Above all

g RO T 3G GTR & T Y AT & forw T

A)mma)qéﬂsrqa‘ﬁwmwmmm

28. SI Unit of mass
A) pound B) liter C) meter D) kilogram

28. G AT $T SI THG
A) ar33 &) dfrex €) #iex D) feheltamat

29. In A FIAT bogie how many number of earthing
devices are provided
A)one B)two C) three D) four

29. Rrue 1IN 7 ey 31fier Barsw vear e Sa &
AT A (O D)IR

30. What is the name of the damper connected
between bogie and car body?
A) Primary B) Secondary C) Yaw. D) None of these.

30, S 31K FR SR F A aTe) SFR HT ATH FAT
A) ITSFY B) Aehsd C) TTa D) S | FIg wET
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K B e oy

A) 1B) 30 C) 26 D) None of these

31.5*5+45+5-5 =

A) 1 B) 30 C) 26 D) 373 & 1S #18T

32. The length of the bridge in metre, which A train

130 metres long and travelling at 45 km/hr can cross
in 30 seconds, is:

A) 230 B)245 ()240 D)250

32. 39 Gl oY ofarg He 7 a1 8, & 130 e & 3
45 fapatY/eer iy 71far & IraT FHTT arelt 27 30 Wehs H g
F Thll &2

A) 230 B)245 C)240 D)250

33. Capital of Manipur is
A) Guwahati B) Agartala C) Shilong D) Imphal

33. AT Y AT §
A) TATETEY B) 3aRAaT C) FASATIT D) 3FhTer

34. 46. The three elements of the fire triangle are:
a. Water, A heat source, and fuel

b. Oxygen, water, and fuel

c. Oxygen, fuel, and A heat source

Fuel, oxygen, and earth

34. 3P RoT & N aea &
A)STeT, FSAT &7 T 3 Serer
B)3Tereiat=l, 7T Us sty
C)HTFHISTe, eI Us AT 7 T
D) S+, 3iTerTotet U gouiy

35. No of fire extinguishers provided in one AC
coach of A passenger train
(A)05 (B)04 (C)02 (D)01

35. YHSIR &7 & U T Sy 3 317957 e 4t A gear
(A) 05 (B) 04 (C)02 (D)01

36. What is the full form of WRA?
a. Wire relay appliances

b. Water raising apparatus

c. Worker relief arrangement

d. None of these

36. WRA &I qUT &9 &
A) IR e voaradst
B) aTeX YT Tuvew
C) g el 3erae
D) $TH & I oTgT

37. What is the Capacity of the Water Tank
provided under the frame of the coach?

A. 500 liter B. 550 liter

C. 600 liter D. 685 liter

37. 9T & S5 & A WeTeT Y IS arey Sy ahr Y
&THAT FAT§?

A. 500 #1eX B. 550 afrex

C. 600 X D. 685 e
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38 A can do A piece of work in 30 days while B can do 38, A U 13 &Y 30 AT 3 &g @ & srafd B 33 60
itin 60 days. A and B working together can do it in: fasit 3 FT THATE| A T B U mmmgvsﬁ

A) 25 days B) 20 days C) 10 days D) 15 days
ﬁﬁﬁﬁmg:
A) 25 f&s7 B) 20 f2=7 C) 10 &= D) 15 f&=7

39. POH periodicity of CTRB used on LHB coachesis Frat F ggaFa Hraftrarar &ar
A) 18 months B) 36 months 2% b el il i ¢

C) 54 months D) 72 months A) 18 FEYAT B) 36 FHEVAT C) 54 FEYAT D) 72 FLIAT
40. The function of earthing device is )
A) To protect CTRB 40. fearsa FFAE
B) To protect the WSP A) CTRB &1 &fr & faw
C) To protect the control arm
D) To prevent brake binding B) WsP & zeTT & faw
C) for=roT Q@ dr @I & forw
D) 31k ST3 39T &l Ak o felT
41. How much shelling on A wheel can be allowed :
41, e &yl
A) 50 mm length and 1.5mm deep o W.m i d s o 15 feh
B) 40 mm length and 1.5mm deep A) 50 foah s 3¢ 1.5 e 70 B) 40 ot s 3t 1.5 ol 760
C) 30 mm length and 1.5mm deep €) 30 fh g 3k 1.5 fd 70 0) Ao & JAfay A &
D) No shelling allowed
42. D2 Maintenance Schedule of LHB Coach is
oy 42, TACTE I T 8 2 TEIETE AR HT AT &
A) 30+ 1days B) 30 + 3days A) 30 +1 feeTal) 30 + 3 fee
C) 30 +5days D) 30+ 7days
€) 30 +5f&a D) 30+ 7 &t
43. What is the function of FIBA device in case of 43, R v T Uy # FIBA fRasa e &
bellow burst R ¥ s
A) Failure indication B) service brake application Al ) B) ) ¥ TR RIe
C) both A & B D) none of these C)AﬁBMD)gﬂﬁ@fﬁéﬂﬁ
44. The maximum air pressure available in air 44, T & 3U=Y m;ﬂgmmg
spring is .
A) 6 kg/cm2 B) 4 kg/cm2 A)6 foRar/A# T2 B) 4 fRar/a#H2
C) 8 kg/cm2 D) none of these C) 8 fRam/a#2 D) ST A IS T
45. What is the purpose of Anti Skid system? 45, T8 s FAeeH 1 3@ F:TY?
a) To protect wheels against skidding. A) afyat FRFRTYwR S AT
b) To maintain same speed of all axle : .
c) Both A & B. B) WY T T FATS 7fe FeAT0 7@ & Fw
d) None of these C)A 3R B.
D) 3T W IS G
46, How many states are in India 46, ¥RA A frasr 5T §
A) 29 B) 28 C) 27 D)26 A) 29 B) 28 C) 27 D) 26
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47. Which of the following is available in largest
quantity in atmospheric air:
A) Oxygen B) Nitrogen C)Argon D) None of these

47, AR 3 A Fler argrizeia arg # qad ag Avn A
gAY §7
A) 3ifarAISTet B) ATSEIST C) 3TdTet D)3eT# & IS g

48.1f200% of A number is 90, then what is the 80%
of that number?
A) 48 B) 36 C)24 D) None of these

48. T el Tear &1 200 UfAA 45 &, T 38 HEAT 7 80
aferere frder gram?
A)48 B) 36 C) 24 D) o141 & FIS 6T

49. The mean marks of 10 boys in A class are 70%,
whereas the mean marks of 15 girls is 60%. The
mean marks of all the 25 students is :

A) 64% B) 60% C) 55% D) 52%

49, fordlY araTr & 1oagaﬁ$r3ﬁua3i$7o%%,sra%1s
F a7 3 379 60% &. @Y 25 ezt &1 sirad
37

50. An amount of Rs 1200 is districuted among A, B
and Cin the ratio of 5:7:13. What is the difference
between the shares of C and B?

A) Rs 288 B) Rs 328 C) Rs 296 D) None of these

) 64% B) 60% C) 55% D) 52%

50.1200 TIAHTATAA, BIHR CHF fra5:7: 13
HAIT H Faafke dr e &1 € 3R B & A4 & & 1
FAR FaATR?

(A) 288 9 B) 328 FUA C) 296 TIA D) 578 A IS ST

51. A shopkeeper sold some articles at Rs 35 per
piece and gained 40%. What would be the selling
price of each article to earn 60% profit?

A) Rs 40 B) Rs 45 C) Rs 50 D) None of these

51. U gahTiaR o $& a1 I 35 Tu e iy Hr a3
ST 3R 40% HT SATH FHTAT| 60% AT TTd HaA
T 9e3e a¥vq 1 g Fea a1 g1em?

A) 40 39 B) 45 F9A C) 50 FUA D) 578 A IS ST

52. Area of circle having diameter 7 cm is
square cm
A) 154 B)77 C)37.5 D)21

52.7 @wﬁwmmﬁqaa;rmm
A) 154 B)77c¢) 37.5 D) 21

53. 75 Ltr AR tank used for -
A) Toilet purpose B) Braking purpose
C) Standby D) None of these.

53.75 SeX AR & T 3TAN9T fohar STrar &
A) itaTera & T B) 9% Ty & forw o) eésars
D) 3o & IS 61

54. What is full full form of MCB
(a) Miniature circuit breaker
(b) Mini circuit breaker

(c) Master circuit breaker
D)None of the above

54. THHTSY T ol PBlaT FATY
(A) FAfAT=R fde 3T B) AT affe 39 ¢) Areex
Hféhe AT D) IURFT & A H1S &Y

55. Non - return valve permits water supply in:
A) One way B) Two way
C) Three D) Four way

55. AleT-Ret atea aref v 3mqfet A srgata dard:
A)THEF REAB) T TNE A
(C)TNATREH D) IR ATFH A

56. One Micron is A:
A)0.01 mm B)0.001 mm
C) 0.001 inch D) 0.0001 mm

56. Ueh HATSHI &IcT &
A) 0.01 A+ B) 0.001 fAs

€) 0.001 fA#Y D) 0.0001 A=
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57. The following is (are) used as A safety
device(s) in machines;

A) Fail safe B) Safety interlocks

C) Limit switches D) All of the above

57.xr:ha’iﬁ§tmm(3wﬁ)$m#
o=t a1 3T T ST §;
A) el A% B) AU Fedalla
) Wy fEaw D) FuNFa @i

58. File used for fitting radius in corners is:
A) Flat file B) half rough file
C) Round file D) Square file

58. @At 37 [T Rhe Tl & fore 3TN I AT
aroll 15 &:

A) T BTl B) 3ET T HIgel

C) 3T BIS D) T ISl

59. Who won the player of the tournament award in
ICC T20 Cricket World cup 2024 held in USA & West
Indies?

A) Virat Kohli B)Rohit Sharma

C) Jasprit Bumrah D)Surya Kumar Yadava

59, TqEd (o IARGT AR deezdrer # o 1CC T20 e
fred Y 2024 # TR 3T & ZATHE &1 QIR et S’

A) RTE gl B) AR er#AT

C) ST §ATE D) §I $AR Aed

60. Olympic 2028 games is scheduled to be held in

A) China B) USA C) Canada D) India

6030 2028 @A
(@) T (@) AT (1) FeATST () HRA

61. Who had won the gold medal in javelin throw in
Olympics 2024:

A) Neeraj Chopra B) Arshad Nadeem C) Manu Bhaker
D) Vinesh Phogat

61. 3N 2024 7 1T $ep 7 TaoT ugen fhaet ST 4
%) STt ANTST (W) 3R AGH (1) FHef TR (81) faAr Breme

62. Acetylene Cylinder in gas Welding equipmentsis:
A] it is black color and its valve has right hand
thread

B] It is maroon color and its valve has left hand
thread

C] To supply the gas to welding torch at A proper
and reduced pressure

D] For gases supplied to the welding torch from

cylinder

62. g afeger 3yawon F vfafeeh fReist e:

A) Tg el (T 1§ IR 0% area H gt gry T amem R

M T ATA T T 3R sTF aTea H S0 GIT FT R

o 37 3R e gara W AfeSaT FRITer i | i Irqfet IR F
IGIY

21 afeger Fremer & 3mqfe i arg At F o

faferst

63. The tool is used to finish drilled hole is called:
A) Reamer B) File C) Hacksaw D) Drill

63. f3er fohT 310 B¢ & WA I & TNT ITEHIOT ST ITANT fhar
ST & F3Y gt ST §:

A) {7X B) W18 C) ghal D) f3a

64. During the Air brake test of the rake which
hose pipe should be connect first -

A) FP hose pipe B) BP hose pipe

C) Any hose pipe D) Both hose pipe

64. Y % TIAT ek G&TOT & SIRTT it AT g1t
9159 gge derare fhar S anfge

A) UHYT FGT 9189 B) BP AclT 9189

C) @1§ Y sTelY U139 D) YAl el wIgy
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65. In case of brake binding on both trolley what
you do first -

a) Isolate both trolley

b) Isolate the DV

c) Pull the quick release valve wire

d) Any of above

65. EYsit T U Sah arsf3ar & #ATHer 7 31T ggY
FATHIA &

A) YA 2Tl &Y 31737 &Y B) DV &Y AT &L C)
cafta Reer area ar @iaY D) 3uad 7 A F1$ o

|
’ 66. What is the principle of brake system used on

LHB coaches?

a) Single pipe air brake system

b) Twin pipe air brake system

¢) Twin pipe with disc brake air brake system.
None of these

66. TTTEdY et O SR ek UM T FAEHId 41 82
A) TRiaTel 9139 T o FAEeH

) zfas ursy R o RAeed

) F3e o v b FAeed & ary faa arsg

D) $71H & &1 77T

67. what is use of Chisel

A] To Remove small amount of metal and finishing
purposes

B] To remove large amount of metal up to 6mmC]
To cutting the metal on scribed line
D] To remove the metal on scribed line

67. BT T YA FAT L

A] T T BIET AT Y gelel R aRHI0T Ieedt &
faw

B] 6mm T €T T 31 HATAT I geTet & fow
C] YT ST ThI$e8 AT IR HIca & [T
D] FhI$ES AT UX UT] Y §To & fIT

68. what is use of file

A] To Remove small amount of metal and finishing
purposes

B] To remove large amount of metal up to 6mm(]
To cutting the metal on scribed line

D] To remove the metal on scribed line

68. BISH T 3TAT FAT

A a7 3T IO 3 at fY S AT # ge &
faw

B] 6 T €Y ok 52 AT 3 a1 Y gerey & T
C] YT T ThISes AT I It & faT
D] FEhISS8 WTgsT IR UT T eI & farw

69. If the dump valve continuous venting the
reason may be -

a) Dump valve is defective

b) Dump valve electrical supply disturbed

¢) Dump valve stuck up in actuating position
WSP is defective

69. Ife 39 aTed ax 3feaT &1 RoT &Y Hvar -

A)@WW%B)@W%@MWWC)
39 ared Hfshy Ffufa & & =7 D) WSP Ysquf §

70. Height over roof of LHB coach is -
(A) 4039 mm (B) 4025 mm (C) 4026 mm (D) 4047
mm

70. TAUHST T H o W] Fa1$ §

(A) 4039 THFY () 4025 AT (3f) 4026 &Y (2N) 4047
AT

71. Fire Extinguisher should be refilled -
A) Every month B) Every 3 months
C) After 1 year D) On every trip

71. HTTAATHE I &Y FFT A e Tifpe -
A) BYHEA B) 8T 3 AL
C) 1 a9 & &1E D) §T ATAT 9T
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72. On KM basis ‘SS- I’ of LHB coach is done
A) 5 lakh B) 6 lakh
C) 9 lakh D) 12 lakh

72, Rreitafiet & MU 91 Uewed Fre & TEed- | fRar S g
A) 5 9@ B) 6 1@
C) 9 @ D) 12 @

73. The CBC fitted on LHB coaches’ has
feature.

A) Anti slipping B) Anti rotation

C) Anti climbing D) Anti Creeping

73. TAUaaY et g o A 7 . Fra
A) U fEafaar B) Uy Aeered
C) U Farsf@aer D) Ty e

74. Axle Load of AC coachiis..........Ton.
(A)16.3 (B) 13.3 (C) 20.3 (D) 18.3

74, UHY YT HT CFTA NS G zl
(A) 16.3 (B) 13.3 (C) 20.3 (D) 18.3

75. oeeiivinnnnn. g Grease is used in CTRB.
(A) 455+30 (B) 250+30 (C) NIL (D) 1500

74T CTRB # gms Grease 3T 3917 f&haT SATAT

&l
(A) 455+30 (B) 250430 (C) =4 (D) 1500

76. Yellow strips on end body of ICF indicate is

76. ICF ¥ 3ifa# 9 oX ey gefeaf sfa s &

(A) Antitclescopic (B) Dual brake EFaTRIE
(C) In built air brake (D) Non-Antitalescop (4) (B) 5 3\{,? 3?1'
(C) free vaX 3 # (D) ATA-TETATHRIT

77. Following welding process uses consumable 77. afeger uftrar & g saacIs &l 39T HIAT &
electrodes
(A) TIG (B) MIG (C) Thermet (D) Gas (A) far (B) 197 (C) arehar (D) 31

78. During service application the brakes should 78. TaT 3TAET o ST b a’nlg’l?ﬂ Trfge -

applyin - S .

A) 20 Sec. B) 30 Sec 20 ) b .

C) 3-5 Sec. D) 15-20 Sec C) 3-5 @3 D) 15-20 A&

79. The Fins provided in between the brake discs

79. ¥ faee & AT ve fhv v g@

A)1.0-5.0mm B) 1.0 - 10.0 mm
€)0.9 - 1.4 mm D) 1.0 - 2.5 mm

ﬂ;rT ided effective cooling during braking A) ik % +
a) To provide \Y : Rt SrTeY Qe SeTe X o fee
b) To minimized weight of brake disc. B) s f3¥a & dsTe] ohl ohel el oh [T
¢) To provided strength to break disc. C) f3¥eh @1 arsa & farT erfdd vaT i & faw
d) To increase friction property of brake disc D) 3 forep o Tur agor ) gerd & fav
80. “PEASD’ provided in LHB can be reset - 80. TIUTST & YeT fohw aTT "frovdsr” &r S¥e fohar ST ashar g
a) From under gear of coach only A) FTFIRFNTS Faa
b) From any where of inside coach .
¢) From the point where chain pulled. B) aﬁaé»'siaﬁ? ERIEIESICE]
D) BothA &B C) 3% faig & Srgi o= Wit a1$ o
D) A 3R B g1t
81. What is the limit of air gap between sensor 81. AT 3R BIferes <&l & 1< gar & 3ax iy WrAT a1
and phonic wheel? ¥

Aj 1.0 - 5.0 fA#T B) 1.0 - 10.0 A=Y
C) 0.9 - 1.4 TAFY D) 1.0 - 2.5 A=Y

82. What is the purpose of speed sensor?
a) To compute the revolutions of each axle
b) To maintain same speed of each axle

82, TZ T &7 3ET FATR?
A) T 48 o IREHHOT &Y 0T et & FaT
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¢) Either A or B B]W%ﬁﬁmﬂﬁmmaim
d) None of these )T AT
D) §11 A Ig A

83. What is the purpose of Dump Valve?

a) To maintain approximate same speed of all
axles.

b) To protect wheels against skidding

83. 39 aled &1 3642 &1 7
A) T T Y SIS FAT Y FATT T@AT

(A) 635 mm (B) 605 mm (C) 590 mm (D) 584 mm

c) A & B both. B) ufgrat ahr feenf3er & e & fore
d) None of these C) A 3R B A
D) 313 § IS &Y
84. Minimum Permissible buffer projection from Ssrets A yaﬁq THT JIIUT Y
Headstock is o o

(A) 635 fA#T (B) 605 fAHT (C) 590 T&HT (D) 584 AT

85. What is the oil level in dashpot?
(A) 50.0 mm (B) 40.0 mm (C) 75.0 mm (D) 90.0 mm

85. 3erdTe 7 ol T T fhdar axar 87
(A) 50.0 TA#T (B) 40.0 TAHY (C) 75.0 f&#T (D) 90.0 TAAT

86. How many types of shock absorbers are used in
LHB Coaches?

(A) 6 (B) 5 (C) 4 (D) 3

86. TITHHT hrdl # fohcey UhIX & 2ATeh TeaiTaT &1
IYGIET AT SATAT 8?2
(A)6(B)5(C) 4 (D)3

87. In place of empty load box what device is used in
BLC wagon?

(A) BSD (B) LSD (C) SDF (D) SAB

87.UFEI IS SIaF & TATH 9 AT S99 & f5 g
FYHIOT T ITANT foham Srar 72

(A) SITHSY (B) TaTH3T (C) THATS (D) THTST

88. Rake carrying capacity of the BLC wagon is
(A) 40 wagons (B) 45 wagons (C) 46 wagons (D) 48
wagons

88. FTTTHT 4377 T ¥k ageT &THaT S
(A) 40 J3TeT (B) 45 A1 (C) 46 &97eT (D) 48 917
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89. Preheating is essential in welding for
(A) High speed Steel (B) Stainless Steel (C) Cast Iron
(D) German Silver

89. afegar 3 M FEer amaeas &
(A) 8T8 s TeT (B) T&+TaE TV (C) FHedT oieT (D)
STH+ fAeay

90. Full Form of CNC machine is: (A) Central Numeric
Control (B) Computer Number Control (C) Computer
Numeric Control (D) Computer Numeric Centre

90. ey FefeT &1 got &9 &:
(A) Fger AR FeTe (B) Hoged dal il (C) FYET
AR dheiel (D) degel ~gARE Hel

91. Break Journey is not permissible in case of ___
(A) Transfer Pass (B) School Pass (C) Settlement Pass
(D) Post Retd. complimentary pass

91. & ATHA & a4 STt & AT AET &
(A)WW(B)WW(C)WW(D)
qree Reras A= o

92. Roof sheet thickness in BCNA wagon

(A) 2.4 (B) 0.6 (C) 1.6 (D) 2.5

92. AT ForeT F od @ fe H ARTS
A &l
(A) 2.4 (B) 0.6 (C) 1.6 (D) 2.5

(A) 20 (B) 50 (C) 75 (D) 60

93. Condemn height of Elastomeric Pad is.............

(A) 40 (B) 42 (C) 46 (D) None 93. TATEAARE U8 &1 wgAdH FUTS .ccoenne 4
(A) 40 (B) 42 (C) 46 (D) 1§ @Y

94. Limit of flat tyre in wagon is......... mm 04. 3 P - I

(A) 20 (B) 50 (C) 75 (D) 60

95. What is the Transportation code of inspection
carriage (Administrative)?
(A) AR (B) CR(C) IC (D) RA

o5. fayfrator adr (vermafeE) &1 aRags HIS FAT 87
(A) THR (B) 3R (C) 3m$HT (D) IRT

96. Maximum encashment of leave on average pay is__
(A) 200 days (B) 60 days (C) 360 days (D) 300 days

96. A A I PN T ITRAH FRATHIOT
(A) 200 f&=T (B) 60 f&=7 (C) 360 &= (D) 300 f&=t

97. LAP shall be credited to A Railway servant at the
rate of : (A) 2-1/2 days per month (B) 3 days per
month (C) 2 days permanent (D) 1-1/2 days per
month

97. TATYY T TaTd Adeh ! e @ hr &3 J STAT
fRT SATTA: (A) 9T |18 2-1/2 f&=1 (B) ufa &g 3 &= (C)
2 f&aT TURM (D) 1-1/2 A Ui ATE

99. When no leave is admissible under any other rule

99. 519 IS Fe! fhdl 3w foras & dgd T FALT 8,

the leave granted is known as i 71??'{3 S-S
(A) LAP (B) LHAP (C) SPL leave (D) Extra ordinary (A) 31T 3raehTeT (B) m 3ifeta srerer (C) R9w
e 37T (D) HHTLIROT Jraah1er

100, The masimur iy oursofworkin A Gay it |00, e e et e o e o o

A) 11 Hours B) 10 Hours C) 9 Hours D) 8 Hours A & Hfehas e ae Fare?

A) 11 €2 B) 10 §¢ C) 9 € D) 8 ¢

1018’ 817 & &g GaN H1 HAiadl # 398 # dud fAfFafad s A gem:
A)fEEY 3rvrar EfFarer B) Fad f88Y ¢) Fad Sfeer b) daer e e T
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102, 3N vy Ry A A aar
A)AB)BC)CD)D

103, FNT RO 7R & ey A §:
A) gAY 8) Y HN C) R 53l 0) weresy

104 JISTHINT & HTUR 9T 27 FY Avaey st 3 afer arar
A) 28)1C)4 D)3

105 15T FREY SRTRTOT 3T TR et FAR et
A) IT& FATHT A JTITHINT FAHTT B) et H1wT €) TR #3107 D) X AAGHA

106.37R { FleT WY HIWT LFARTY AR 3 7 Ry s 2
A)REY B)HEF €) ISRTE D) AT

107.RE) aw v ardw@ :r warr srar g
A)8 HTH B)10 IV )12 HIET D)14 RAaFax

108. WU W fav @y R Y Tad HIRA Y Tors1wT & w9 F TR v
A)26 FFELY 1950 B)15 HITALRYYL 1947 C)9 HITET 1942 D) 14 AT+ 1949

109. 31STH AT A Fref Fobciatr 1w &2
A)23 B)22 C)24 D)21

110 FHET TTHIT HIATY 3 Fiet ey wer g 82
A)30 B)25 C)20 D)21
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1. POH of BOXN Wagon is done at the 1, T Ut A976T T YT woomemeeaeaee 18 & Iare 9T fpar
interval of -=-=-sssesmeseeeas month. STt
(A)12 (B) 09 (C)18  (D)54
A) 12 B) 09 C) 18 D) 54
2.Brake power certificate issued for Premiumrakes | 2, fg# Y& & &, oy, o), $r dvrar -y &
is valid for...........
(A)7+/-4days  (B)10+/-2days  (C)15+/-3 | A) 7+ 4T B) 10 +- 22
days (D) None of these. C) 15 +- 3 f&at DEGLE:ECE
3. After reaching on an accident site first stepis to meq@twmm ...................

(A) prima facie cause of accident (B) First aid of
injured (C) protection of site (D) arranging food.

(A) GeeT T ST TS HROT (B) Errelt e st e
(C) WTST &Y GI&TT (D) $H1T T cqaTUT FHTT|

4o type of bearing is used in FIATBogie: | 4, ................ TR & ST F1 39T fpve a7 f3ar Srar &
(A) Spherical Roller Bearing (B) CTRB B Yerg AT IRET
(C) Ball Bearing D) None ofthese A) 3 . = e
C) arer ST D) 373 @ IS G
5. New Wheel dia of fiat bOgi€ iS..uucmmmmmmmssmesessens mm | 5 frueaet & F3 RgTHI g™ ---------- A garg
(A) 940 (B) 825 (€) 1000 (D) 915 A)940 B)825 ()1000 D)915
6.Capacity of auxiliary reservoir of LHB coach 6. TeTUEEY shrer A a3y Rt fr &7 T ... N e &
is......litre A)100 B)125 (C)200 D)150

(A) 100 (B) 125 (C) 200 (D) 150

7.No. of brake cylindersin one LHB coachare

(A) 08 (B) 04 (C) 18 (D) 16

7. Ueh T U i & sieh oIS hl H&AT FATE?
A) 08 B)04 C) 18 D)16

8. Speed of Medical van is fixed at ----kmph.

8. AfSwct a1 Hr ATty —— frei wfy er fReifa Fras

A)100 B)110 C)75 D)120
(A) 100 (B) 110 (C) 75 (D) 120 ‘
9.Wheel gaugeis ...........mm. 9. RIANA ... AR
(A) 1600+2 (B) 1600+2-1 (C) 1599 (D) 1676+3
(A) 16002 (B) 1600+2-1 (C) 1599 (D) 1676+3
10, ----meememe- is checked with tyre defectgauge. | 10,------------ TR AN AT & G1Y A 7 ST B
(A) wheel defect (B) Buckle defect (C) CBCdefect A Readtae  B)aFadt 0 D)
D) door defect SICIE UL L
(D) st
11 Brake pipe pressure Ig -=«-ssssssssssssa Kg/Cm?2 HTE G |4 I 1 1 (OR— fratam uia g9t T
(A) 5 (B) 6 (C) 3.8 (D) 4 Qard
A)5 B)6 ()38 D) 4
7 J— bearing is used in casnub bogie. 12. 5T SN+ ... AT T IR EAT R

(A) Cylindrical (B) Spherical (C) CTRB (D) Noneof
these

A) dFAHR  B) M@K ) MAHNRE D) 378 A A

Gl

13. POH of LHB coach is done in the interval
of....months,
(A)12(B) 18(C) 36 (D) 48

13, UTUEEY e &l AT ---- HE & HoclTel TR T STl &
A)12 B)18 ()36 D) 48
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14. Brake accelerator is connected to -
A) FP pipe B) BP pipe
C) BC pipe D) both A & B

14, S TFRICRET 3T Il 8-
A) FP 9T3Y B) BP UT3Y C) BC U139 D) A 3R B &Yt

15. What is the capacity of CR TANK?
A) 5.0 Liters B) 6.0 Liters
C) 9.0 Liters D) 8.0 Liters

15. CR & & eTocr T 2
A)5 T B) 6 ol1eX C) 9 oeT D) 8 afleT

16. What is the last shop issue size of wheel
should be followed as per latest RDSO
instructions

A) 862mm B) 857mm C) 845mm D) 915mm

16. ANATH FRATHAT fr 2t & regar afgar @
JHTH GhTeT HEGT TR T & T UTeTeT fhaT SATAT
Bliy

A) 862 fTA#T <) 857 fA#Y A@Y) 845 AT 4)) 915 A+

17. Permissible wheel diameter difference on the
same axle

A) 0.5mm B) Smm C) 6mm D) 13mm

17. W& & 48 9T A afgar ear 3R
A) 0.5 TRFT &) 5 AT @) 6 B 3 13
(e

18. How many brake discs are available on one
LHB Coach?

A) 2Nos B) 4Nos C) 8Nos D) 6Nos

18. U& TaUdel e U fohcleY Sk f3€eh 3uarey &7
A) 2ZNos B) 4Nos C) 8Nos D) 6Nos

19. Shelled wheels are withdrawn from service
when the shelling length reached (Max)
A) 40mm B) 50mm C) 60mm D) All Above

19.?@@@?(%)%@@%@%
I {1 F ar9d o forar srary

A) 40 TAFT &) 50 AT T@) 60 A ) sRIFT T

20. Free height of 16.25 tons AC coach bolster
spring is
A) 385 mm B) 390 mm C) 400 mm D) 410 mm

20.16.25 ToT THY I See FoieT i o Sars &
A) 385 AT &) 390 fAFT &) 400 AT ) 410 Y

21.”1”inch is equal to how many “mm”?
A) 12 mm B) 25.4mm C) 3mm D) 10mm

21."1" 59 ey "fAe & sue 2
A) 12 TR#T &) 25.4 fAer &) 3 @ S 10 e

22.'Air Dryer’ Function is
A) Adding water to the Air
B)Air pressure decreasing
C) Remove moisture from air
D) Air pressure increasing

22, 'TI 3R B §
A) gaT & grely strger
B) &dT &l GaTd & gl
C) &ar & A#Y fareTel

D) argers # gefer
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23. Micrometer least count isA)
0.01 mm B) 0.02 mm
€)0.05mm D) 0.50 mm

zé.nmﬁm#m
fach &

A) 0.01 mm B) 0.02 mm
€) 0.05 mm D) 0.50 mm

24, is used to measure the roller
clearance in roller bearings.
A) Feeler gauge B) Snap gauge
C) Micrometer D) Clearance Gauge

24.ﬂmmﬁ=ﬁﬁwmﬁm$mm

fapar SITaT g
A) Brer AT B) F49 ST

C)WD)WW

25. Anvil is A part of.
A) Vernier caliper B) Tri square
C) Outside micrometer D) Dial gauge

2.5, Hoqq e TG R
A) afe AR B) 218 T
C) ATSHIHICR & ST D) 31Tl AT

26. A dimension is stated as 25 + 0.02mm in A
drawing. What is the tolerance

A) 25.00mm B) +0.02mm

C) - 0.02mm D) 0.04mm

26. Ueh STS9T # Ueh 3TATH 25 + 0.02 AN FEFTH

AT AT | STeE F AT Y

A) 25.00 fA#T  B)+0.02 AT
C)-0.02 &+ D)0.04 AT

27.___isused to measure the diameterof the
wheel.

A) Trammel gauge B) Pi-gauge

C) Vernier Caliper D) Above all

27, —emeeeees T 39AT Ui & a1 Y AT & fore fomar

K
A) 3 3157 B) U1 1T €) AfeTeX HIAT D) ITIFT Tt

28. SI Unit of mass
A) pound B) liter C) meter D) kilogram

28. ZSTHT FI S| SHG
A) a3z &) X C) #iex D) farellame

29. In A FIAT bogie how many number of earthing
devices are provided
A)one B)two C) three D) four

29, frue arelr 7 forcer 371¥er f3amsw vt fvu o §
ATE BA (OFF DIR

30. What is the name of the damper connected
between bogie and car body?
A) Primary B) Secondary C) Yaw. D) None of these.

30, a7 3R FR STEY A S AT SFR FTATH FAT R
A) TrEFY B) s €) ATa D) I A IS AT
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31, 5*54545:5 B i 31.5*5454+5-5 =.........
A) 1B) 30 C) 26 D) None of these

A) 1 B) 30 C) 26 D) 318 & 15 18T

32. The length of the bridge in metre, which A train 32. 39 Yol & oiars et 7 @ar 8, o 130 #rex & 3y
130 metres long and travelling at 45 km /hr .ﬁ N /6t R el F&z

in 30 seconds ii: ’ fhrcan cross 45 /aer e & a0 HAR
A) 230 B)245 C)240 D)250 FT T §?

A) 230 B)245 C)240 D)250

33. ATOTYT T Tarenmeir §

A) FTATETEY B) 319 C) FRAISTIT D) $FhTeA

33. Capital of Manipur is
A) Guwahati B) Agartala C) Shilong D) Imphal

34. 46. The three elements of the fire triangle are: 34. 3177 BT F DA aca &
a. Water, A heat source, and fuel

b. Oxygen, water, and fuel A)STT, FSHT T 19 3R 49T
C. Oxygen, fuel, and A heat source B)m Faus 3'-7?
Fuel, oxygen, and earth o ' . :
C)ATFHISTA, S8 US FSHT &l I
D) $¢14, HHierdsTe U5 gedy

35. No of fire extinguishers provided in one AC

. 35. YHSIX ¢oT & Ueh THY Sy 3 31957 e o5t oy d=ar
coach of A passenger train
(A) 05 (B) 04 (C) 02 (D)O01 (A)05 (B)04 (C)02 (D)o01
36. What is the full form of WRA? 36. WRA a;rcnuh;q%
a. Wire relay appliances ;
b. Water raising apparatus A) aRR Rl TeemaiisT
c. Worker relief arrangement B) aTex Y97 vaieH
d. None of these e
C) T el 3r{sre
D) 314 | IS G
37. What is the Capacity of the Water Tank 37.g & A & A1 TeTeT dhr TS qredY Yy Thr Y
provided under the frame of the coach?
A. 500 liter B.550 liter &THCT AT &2

C. 600 liter D. 685 liter A. 500 feT B. 550 drex

C. 600 ¥EX D. 685 e
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38. A can do A piece of work in 30 days while B can do
itin 60 days. A and B working together can do it in:
A) 25 days B) 20 days C) 10 days D) 15 days

38, A Uas &3 Y 30 f2aAt 7 & wahar & FafF B A 60
fat 3 T e &1 A 3 B UF A1 HTA HLA FUIH
A) 25 f=1 B) 20 & €) 10 &1 D) 15 &t

39. POH periodicity of CTRB used on LHB coachesis
A) 18 months B) 36 months
C) 54 months D) 72 months

39. LHBa’tﬁﬁq'gaFacmsawomﬁranaﬂJmmt
A) 18 FEYAT B) 36 HENAT C) 54 FHEIAT D) 72 HEYAT

40. The function of earthing device is :
. 31fetar fRarew &1
A) To protect CTRB 0 ¢
B) To protect the WSP A) CTRB & geafr & fore
C) To protect the control arm
D) To prevent brake binding B) WSP 1 3 & faw
C) for=ror e T I & faw
D) ek aTE 39T Y b o ForT
41. How much shelling on A wheel can be allowed ;
g 41,7 W freen o &1 e

A) 50 mm length and 1.5mm deep
B) 40 mm length and 1.5mm deep
C) 30 mm length and 1.5mm deep
D) No shelling allowed

) 50 el s 3k 15 el et ) 40 et i 3 1.5 foelt 70
C)sommmtsmmo)amaﬁrmaﬁa

42. D2 Maintenance Schedule of LHB Coach is
done -

42, TETTErE e 1 1 2 TEETT I P A &

A) 30 + 1days B) 30 +3days A)30+1fea 303
C) 30 +5days D) 30+ 7days
) 30 + 5 & D) 30+ 7 f&aT
43. What is the function of FIBA device in case of 43, TI¥ fouer fr fFRufa A FIBA @a@mmg
bellow burst £ S =
A) Failure indication B) service brake application A : B) ) T C E'il A
C) both A & B D) none of these C) A 3R B @it D) 349 & &I a1
44. The maximum air pressure available in air 44, T8T & 39 mwmm%
spring is :
A) 6 kg/cm2 B) 4 kg/cm2 A) 6 foramT/@2 B) 4 foham/Aei2
C) 8 kg/cm2 D) none of these C) 8 fFa/A#2 D) 3AH A HIS AaT
45. What is the purpose of Anti Skid system? 45. T8 TEars RATeH H1 3egrT FATE?
a) To protect wheels against skidding. A) afeat R SR F A
b) To maintain same speed of all axle ‘
¢) Both A &B. B)W@@fﬂﬂla?ﬁmwﬁim
d) None of these C)A 3R B.
D) 3+TH ¥ IS el
46, How many states are in India 46. A A fhaa 5T §
A) 29 B) 28 C) 27 D)26 A) 29 B) 28C) 27 D) 26
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47. Which of the following is available in largest
quantity in atmospheric air:
A) Oxygen B) Nitrogen C)Argon D) None of these

47. fefaf@a 3 & e argrizelra arg # wad agy Arar &
IUAY §?
A) HTaHIsTet B) 18IS C) 31Tt D)3 & H1 w1Et

48.1f 200% of A number is 90, then what is the 80%
of that number?
A) 48 B) 36 C)24 D) None of these

48. e Ry wear &1 200 9fAerd 45 &, A 38 T&AT FT 80
gfarera farasr grame?

A)48 B) 36 C) 24 D) 378 A F1E AL

49. The mean marks of 10 boys in A class are 70%,
whereas the mean marks of 15 girls is 60%. The
mean marks of all the 25 students is :

A) 64% B) 60% C) 55% D) 52%

49, faREY FaTT 7 10 TI8ehT &1 3T 31d 70% g, FTafF 15
T &7 3RTeT 37k 60% &. ey 25 faezrfaiat & r e

3ieh:

A) 64% B) 60% C) 55% D) 52%

50. An amount of Rs 1200 is districuted among A, B
and Cin the ratio of 5:7:13. What is the difference
between the shares of C and B?

A) Rs 288 B) Rs 328 C) Rs 296 D) None of these

50. 1200 TUA AT UFA A, BIHR CHF = 5:7: 13F
3Hegare # faafka v S €1 ¢ 31 B & At F fra
AT FarE?

(A) 288 ¥4 B) 328 T9A C) 296 TUA D) S8 A 1S AET

51. A shopkeeper sold some articles at Rs 35 per
piece and gained 40%. What would be the selling
price of each article to earn 60% profit?

51. T GHIER o s T3 T 35 T9 9fey DA Hrax
T 9T 3 40% T ATH FHTAT| 60% AT 3T I

A) Rs 40 B) Rs 45 C) Rs 50 D) None of these fore seds awq &1 fasra Feg Far gem

A) 40 T8 B) 45 TG C) 50 YA D) o737 & S 7T
52. Area of circle having diameter 7 cm is 52.7 QT =TT HI?TEF[ FTOTHA ... o A
A')"'l'g;'sB(;l;z;rZ)C;;-s D)21 A) 154 B)77c) 37.5 D) 21
Zi';osilttrpﬁl:pts:: o folr3i Braking purpose b éﬁﬁmﬁmm%
C) Standby D) None of these. A) 2itarerd & fore B) e wrame & faw C)¥esars

D) $oTH & I =T

54. What is full full form of MCB
(a) Miniature circuit breaker
(b) Mini circuit breaker

54. THHTS T Pol BlaT FATY
() FAfATER afde saT B) fAfar affe 9 ©) Areex

(c) Master circuit breaker e AW D S ’
D)None of the above ) #ﬁéﬁ@‘
55. Non - return valve permits water supply in: 55. ATA-ReeT area i iy m £ mm 3.
A) One way B) Two way
C) Three D) Four way A) U&h dUH & B) &Y a® &
(C)NTRE A D) IR B A
56. One Micron is A: 56. Udh HATShIT &1 &:
A)0.01mm B)0.001 mm
€) 0.001 inch D) 0.0001 mm A)0.01 f# B) 0.001 e
€) 0.001 TA#Y D) 0.0001 A=Y
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57. The following is (are) used as A safety
device(s) in machines;

57 7Nt 7 HYI&TT 3THTOT (30T & F H

A) Fail safe B) Safety interlocks foa1 a1 ST fofaT ST &;
C) Limit switches D) All of the above A) Yot A B) Rt m
C) ¥ feaw D) IaaFd ash
58. File used for fitting radius in corners is: 58. FY=T 37 A=A fhe @¥eT & forT 39ATeT ¥ SATY
A) Flat file B) half rough file
C) Round file D) Square file arely HIS 8-
A) FIE BTISH B) 374 I6 BIsel
C) 3T $IS D) T Hrsel

59. Who won the player of the tournament award in
ICC T20 Cricket World cup 2024 held in USA & West
Indies?

59, Haad T 3R AR aFeEdrer & IS 1CC T20 fRdhe
fored T 2024 TR 31 & GAAC 1 REHR foFaat S
A) faRTe Figel B) A AT

A) China B) USA C) Canada D) India

A) VlratKohh B)ROhlt Sharma C) mm D) -\c{émm
C) Jasprit Bumrah D)Surya Kumar Yadava = =
60. Olympic 2028 games is scheduled to be held in | 60.31eifd% 2028 @ ........ FyAfaagacg

() T (T) IR (371) FeATST (6) R

61. What is the principle of brake system used on
LHB coaches?

61, TeTTel it O SR 3 SUTTEN T G 7T 87

a) Single pipe air brake system A) TaTer 9189 TR 3 FAEeH

b) Twin pipe air brake system A a

¢) Twin pipe with disc brake air brake system. M TSY TR 3

None of these o e o R 9 fATeA & 91y fasT arsd
D) 373 § &I ol

62. what is use of Chisel

A] To Remove small amount of metal and finishing
purposes

B] To remove large amount of metal up to 6mmC]
To cutting the metal on scribed line

D] To remove the metal on scribed line

62. Bt T ITART FAT Y

A] 17 T BIET ATAT Y geTaA IR IRSAIOT 32T &
faw

B] 6mm e 1] ST ST AT Y gl & fAT

C] T I FEhIges ATga1 I e & AT

D] T3 WATS+ TR UT &l eI o AT

63. what is use of file

A] To Remove small amount of metal and finishing
purposes

B] To remove large amount of metal up to 6mmC]
To cutting the metal on scribed line

D] To remove the metal on scribed line

63. BIS T 3L FAT &

A] &1 3R afserioT Jegeat i BIE AT H FT F
faw

B] 6 fA#Y T e Ty AT U1 Y ge & Qv
C]tnqaﬂmawawmﬁa:m

D] FhIFES AT+ TR UT] A Fe & v
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64.1f the dump valve continuous venting the
reason may be -

a) Dump valve is defective

b) Dump valve electrical supply disturbed

¢) Dump valve stuck up in actuating position
WSP is defective

64. afE 39 area faaT ST & HILUT 8 TehT & -

A) 39 aTed Qg & B) 39 ared faegd 3rqfef avere )
&9 ated afir fewfa # dar a7ar D) WP 2rTqef &

65. Height over roof of LHB coach is -

(A) 4039 mm (B) 4025 mm (C) 4026 mm (D) 4047
mm

65. TAUTd) &Y HY o 9T FA18 &

(A) 4039 fAHY (&) 4025 fA#HY (F) 4026 TAHT (31) 4047
s

66. Who had won the gold medal in javelin throw in
Olympics 2024:

A) Neeraj Chopra B) Arshad Nadeem C) Manu Bhaker
D) Vinesh Phogat

66. 3R 2024 7 HTT e 3 TIUT Ieah fapdeT ST 4T:
%) 7T AIIST (W) S FAEH (31) FHa] 37T (1) Faeier drame

67. Acetylene Cylinder in gas Welding equipmentsis:

A] it is black color and its valve has right hand
thread

B] It is maroon color and its valve has left hand
thread

C] To supply the gas to welding torch at A proper

and reduced pressure

D] For gases supplied to the welding torch from
cylinder

67. 3 afegar Iuaort & vfafeds st

A TE el 31 7§ AR ST dred 7 arfgat g1 T &R

o) g FeT 7 1 ¢ AR SHR ATea 7 ATC gTY UM §

¥ 3T 3R o gara o1 Afeger Femer Y 7 Fr 3gff A &
fore

&1 Afedar aramer a1 3mqfe Fr ar It & faw

fafers

68. The tool is used to finish drilled hole is called:
A) Reamer B) File C) Hacksaw D) Drill

68. 3o fort oTU B¢ FY Wed =t & TIT I9aoT T 39T T
ST & oY T ST ¥

A) I#T B) WISl C) §ehar D) fer
69. During the Air brake test of the rake which 69. Y ¥ TIT 3 THET0T & 2RI B ar o
hose pipe should be connect first -
A) FP hose pipe B) BP hose pipe 9189 9gdl heldre TehaT SITeT TTfew
C) Any hose pipe D) Both hose pipe
A) THUY sTell 9189 B) BP aTalY U189
C) 1 Y el 9IS D) ¥t STl arSy

70. In case of brake binding on both trolley what
you do first -

a) Isolate both trolley

b) Isolate the DV

c) Pull the quick release valve wire

d) Any of above

70. AT ETell 9R 31 argfEar & AT & 319 yga
FATFIA &

A) G ZTeTY &Y 3T HY B) DV Y AT HY )
caftc Relisr area ar @4y D) Iued & A 1S o

71. Fire Extinguisher should be refilled -
A) Every month B) Every 3 months
C) After 1 year D) On every trip

71. HTTAAHE T Y A A 3 anfge -
A) BUHES B) & 3 HEe
C) 1 @Y & &1& D) g ATAT U
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72.0n KM basis ‘SS- 1" of LHB coach is done
A) 5 lakh B) 6 lakh
C) 9 lakh D) 12 lakh

72, RraltF e & T 9T Uerwad) e &T THTE- | A ST &
A) 5 &T@ B) 6 91@
C) 9 @@ D) 12 o1&

73. The CBC fitted on LHB coaches’ has

73, ToruadY @t a7 oy ddrer 7 . Frac gl

feature. N .
A) Anti slipping B) Anti rotation A) T _B) U’@T'I’Q’QTH.
C) Anti climbing D) Anti Creeping C) U& FarsfFaar D) T HfoaT

74. Axle Load of AC coach is...........Ton.
(A)16.3(B)13.3(C) 20.3(D) 183

74, THY SPYT HT TFHA NS G ol
(A) 16.3 (B) 13.3 (C) 20.3 (D) 18.3

75. oevieeiineen. g Grease is used in CTRB.
(A) 455+30 (B) 250430 (C) NIL (D) 1500

- TE— CTRB # gms Grease T 392147 fepaT SATCT

el
(A) 455+30 (B) 250+30 (C) == (D) 1500

76. Yellow strips on end body of ICF indicate is

(A) Antitclescopic (B) Dual brake
(C) In built air brake (D) Non-Antitalescop

6. ICF & 3ifaT 210 ox drely gefear sfa s &
(A) TETFAERIAS (B) 33T SIh
(C) Rree vaT 31 # (D) Ala-vreaEhId

77. Following welding process uses consumable

electrodes
(A) TIG (B) MIG (C) Thermet (D) Gas

7. ATeeeT UfeRaT & 3THIST SAFEIS T ITATT FIAT &
(A) feT (B) 19T (C) ardrr (D) 3

78. During service application the brakes should

78. AT 3MAC & T ek T gled AMST —

applyin - i '
A) 20 Sec. B) 30 Sec A) 20 @'q'v‘s»' B) 30 A3 |
C) 3-5 Sec. D) 15-20 Sec C) 3-5 @3 D) 15-20 A3

79. The Fins provided in between the brake discs
for

a) To provided effective cooling during braking
b) To minimized weight of brake disc.

c) To provided strength to break disc.

d) To increase friction property of brake disc

79. 9 f2Fe & &I YeT fopv a0 U@

A) ST & 21T TerTdT 2fracTe JaTe i & T
B) sreh f3¥h o gotel ol A ¥l & [T

C) F3¥eh & disa & farw AfeFa are &t & faT
D) 5% 3% & a¥oT 9[0T I FgT=T & farw

80. “PEASD’ provided in LHB can be reset -
a) From under gear of coach only

80, TaTTgeT H ere fonw are "qrovasr & e fovar s awar g”
A) T & R & AT & haoT

A) 1.0-5.0mm B) 1.0 - 10.0 mm
€)0.9-1.4mmD) 1.0 -2.5mm

T ottt el B) 1 5 37 &5 Rl af e
D) BothA & B C) 3% foig & Tl At Wit a5 2
D) A 3R B &1t
81. What is the limit of air gap between sensor 81, TET 3R BIfares <Yt & I gar & 3a< &y WAT F:41
and phonic wheel? 5

A) 1.0 - 5.0 fA#Y B) 1.0 - 10.0 fA#Y
C) 0.9 - 1.4 TAFY D) 1.0 - 2.5 A=Y

82. What is the purpose of speed sensor?
a) To compute the revolutions of each axle
b) To maintain same speed of each axle

82. T3 TAT &1 3ET FATR?
A) 9 48 & IRHHT Y IOTAT el & fAw
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SESS

¢) Either A or B B)Wgﬁﬁmﬁnﬁmm*m
d) None of these QA AT B
D) §71H & g e

83. What is the purpose of Dump Valve?

a) To maintain approximate same speed of all
axles.

b) To protect wheels against skidding

83. 39 aTed FT 3E83T FATR?
A) T T Y o137 TATH AT FATT T@AT

¢) A & B both. B) ufgat & e fEar & samay & faw
d) None of these 0 A 3R B
D) $eTH W IS 78T

84. Minimum Permissible buffer projection from
Headstock is

(A) 635 mm (B) 605 mm (C) 590 mm (D) 584 mm

84. §STCToh W FATH AT THT TETIOT &
(A) 635 fAHT (B) 605 f&HT (C) 590 fAHT (D) 584 AT

85. What is the oil level in dashpot?
(A) 50.0 mm (B) 40.0 mm (C) 75.0 mm (D) 90.0 mm

85. 3raTe 3 Yol T TAX =T 21T &7
(A) 50.0 TAHTY (B) 40.0 f&#T (C) 75.0 f&#HT (D) 90.0 A=Y

86. How many types of shock absorbers are used in
LHB Coaches?

(A)6(B)5(C) 4 (D)3

86. UTUTST shidl 3 fohdey b & 20T Usaita & T
39T AT SATAT 2
(A)6(B)5(C)4 (D)3

87.In place of empty load box what device is used in
BLC wagon?

(A) BSD (B) LSD (C) SDF (D) SAB

87 TFCEY AT ST 3 TAT G AUadT Jo1e7 & v g
3YHLOT T ITGTIT FHIAT STaT 2

(A) SITEsY (B) TETHEY (C) THATE (D) THTSET

88. Rake carrying capacity of the BLC wagon is
(A) 40 wagons (B) 45 wagons (C) 46 wagons (D) 48
wagons

88. ATUCTHT 21T T Yok dgeT &THAAT Y
(A) 40 8311 (B) 45 &1 (C) 46 9717 (D) 48 977
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89. Preheating is essential in welding for
(A) High speed Steel (B) Stainless Steel (C) Cast Iron
(D) German Silver

89, Afegar & NAfEr ma s &
(A) BT T3 Tl (B) T&eTard FYel (C) e e’ (D)
STaeT fAeat

90. Full Form of CNC machine is: (A) Central Numeric
Control (B) Computer Number Control (C) Computer
Numeric Control (D) Computer Numeric Centre

90. HUTEY e FT qOT I &
(A) B R FgeT (B) et el helel (C) FeT
WW(D)WF{#&EW

91. Maximum encashment of leave on average pay is__
(A) 200 days (B) 60 days (C) 360 days (D) 300 days

91.me@maﬁmm
(A) 200 f2=7 (B) 60 f&=7 (C) 360 &7 (D) 300 f&=T

92. LAP shall be credited to A Railway servant at the
rate of : (A) 2-1/2 days per month (B) 3 days per
month (C) 2 days permanent (D) 1-1/2 days per
month

92.mﬁﬁmmﬁﬁmﬁf@3£fﬂ#m
2T STTT: (A) 9T ATE 2-1/2 o7 (B) ufa @18 3 f&=7 (C)
2 feT TUT (D) 1-1/2 & 9icr #71E

93. When no leave is admissible under any other rule

93.333#%@%34?&%@%8@’3%@%

the leave granted is known as
Y &Y TS FTE BN SATAT ST &
l(A) LAP (B) LHAP (C) SPL leave (D) Extra ordinary (A) 3T 3rgeRrer (B) m 31T 31geh1er (C) ICEL]
eave
3HGRTLT (D) ITATYROT 3TFehIRA
94. The maximum daily hours pfwork inAday with | g4 srrarEt & 3GHT AT Ida & 1Y Th e #
normal wage allowed in factories is? 2 . :
A) 11 Hours B) 10 Hours C) 9 Hours D) 8 Hours FTH ¥ HTOhaH ST o F4T1 87
A) 11 € B) 10 €& C) 9 ©iE D) 8 ¢

05. Break Journey is not permissible in case of __
(A) Transfer Pass (B) School Pass (C) Settlement Pass
(D) Post Retd. complimentary pass

05. & ATHA H ¥k STl Y AT AGT ©
(A)WW(B)WW(C)WW(D)
qree Rers Ay 9

(A) 2.4 (B) 0.6 (é) 1.6(D) 2.5

96. SrATAT &7 F ©ad i MNe FHir A
AT 8l
(A) 2.4 (B) 0.6 (C) 1.6 (D) 2.5

97. Condemn height of Elastomeric Pad is............ 97, TATEATARE 48 @ &

(A) 40 (B) 42 (C) 46 (D) None <Ll FAL v ¢
(A) 40 (B) 42 (C) 46 (D) 1§ wgr

99, Limit of flat tyre in wagon is......... mm

(A) 20 (B) 50 (C) 75 (D) 60 99. &1 # wT TAT Hr WAT FAT B &Y

(A) 20 (B) 50 (C) 75 (D) 60

100. What is the Transportation code of inspection
carriage (Administrative)?
(A) AR (B) CR(C) IC (D) RA

100. fAgraTor IS (wemETA®) FT UREEH HT FAT 2
(A) THR (B) W3R (C) 3meHT (D) IRT

1018’ m*wmﬁm#mﬁmmWﬁm;
VST 3rerar ST rer B) Fae fE8Y ) dder STerer D) Faet Tre e HIST
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102, 3NfEer g P T F mar
A)AB)BC)CD)D

103. Far7 B afAfd & aremergid d:
A) gAY B) YT #AY ) RYeH 3 o) werers

104 JISTHTNT & HTUR 9T 20 &1 favder ot 7 aier rar
A) 2 B)1C)4 D)3

105 1577 &Y GRveTor @7 Aresshar et AR aar
A) TTE FATHTT A IT$TNT fa377aT B) e FTer C) 8T Ha1er D) Yo HAe

106.37H W et dY 1T ZFATIIY FAfy & 7181 foredy s &2
A)fREY B)EEF C) TSI D) FRIST

107.783) v g ardr@ Y A Srar §?
A)8 FTT B)10 31T )12 319T&d D)14 RAgFsK

108. Tfaernss @ = fore a¥ ST ol T $TRA 7 T131T & &9 7 TR o
A)26 STeTaxT 1950 B)15 IEALRY 1947 C)9 37ITET 1942 D) 14 fATFaR 1949

109. 3TSCH I F el fohclet ST &2
A)23 B)22 )24 D)21

110. & AT WAL 7 ot oot Fewr gt €72
A)30 B)25 C)20 D)21
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